juswugije Jaqi [eando

WG
alignment

LD/PD
alignment

gz
=
83

Manual
alignment unit

Motorized
alignment unit

Fiber holders

Device holders

Adaptors

Contact
sensing meter

Accessories
for alignment

Stercomicroscope

Lens tube
Monitoring
unit

CCD
camera

Lighting

UV equipment

Probe

Alignment
system

Alignment
controller

alignment
LD/PD

alignment

4
009

| Optical Fiber Alignment

Alignment Components

Alignment components

Stage unit

Holder

Component
Cases:

SMF-WG-SMF

e m—e

Manual stage alignme

Device holder

CoGuidance for stage unit--P.4-011
CoGuidance for holder-+-+++- P.4-013

Introduces core components that required alignment such as stage unit
and holders to use in WG and LD/PD alignment.

Manual stages alignment unit
Motorized stage alignment unit
Device unit

Fiber holder
Device holder
Adoptor




Alignment Components Lineup

Type of product

Manual stage alignment unit

Alignment unit (3-axis)

Alignment unit (5-axis)

Alignment unit (-axi) symmerically opposite

Alignment unit (6-axis)

Motorized stage alignment unit
Alignment unit (3-axis) upper free | Alignment unit (3-axis)

Model

E2000S

E2000

E2001

E2200B

ES3700

ES3001

Appearance

Type of product

Tt

Alignment unit (3-axis) 8°

Alignment unit (4-axis)

Alignment unit (5-axis)

P.4-018

Alignment unit (6-axis)upper free

P.4-019

Alignment unit (6-axis)

P.4-019

Device unit

Fixing device unit

Model

ES3800

ES4001

ES5201

Appearance

Fiber holder

Type of product

Fiber holder

ES6701

ES6201

E1000

Fiber array holder

Model

Appearance

F260

Fiber holder

Type of product

FC connector holder

Ferrule holder

Fiber holder with lens

Preset base

F267

Preset style fiber holder | Preset style \V groove holder

Model

Appearance

F261

Fiber holder
Type of product | Preset style FA holder

F262

Device holder
WG holder

F268

WG holder

E300

Preset style WG holder |Temperature control WG holder

Objective lens holder

Appearance

Device holder
Type of product | Selfoc ® lens holder

F270/F271

LD holder

F272/F273

Adoptor

Bracket for element adaptor

E400/E410

Holder adaptor

2-axis tilt table

F280/F281

Tilt stage

Appearance

F125

F270/PB

EB55

B50/B51/B53

Juswugije Jaqi [eando

alignment

LII;)/ PD

= =
o 5}

alignment unit

alignment unit

Fiber holders

Device holders

Adaptors

o = =18 =
=] =3 =9 ES
8 4LH
2
(73

sensing meter

Accessories
for alignment

Stersomicroscope

Lens tube

Monitoring

=
=
=

Lighting

UV equipment

Probe

Alignment
system

Alignment
controller

LD/PD
alignment

L= 8
QD
)




juswusije Jaquy jeando

WG
alignment

LD/PD
alignment

3 aa
b=

Manual
alignment unit

Motorized
alignment unit

Fiber holders

Device holders

Adaptors

Contact
sensing meter

Accessories
for alignment

Stereomicroscape

Lens tube
Monitoring
unit

CCD
camera

Lighting

UV equipment

Probe

Alignment
system

Alignment
controller

alignment

LD/PD
alignment

| Optical Fi

ber Alighment

Stage Unit Guidance

|Alignment Unit |—

—| Manual stage alignment unit (3-axis) | E20008S series

E2000 is a 3-axis unit with the high resolution manual stage (XYZ).
E2000S is sufficient if tilt alignment (8x6y) is not required.

It is the type that a tilt stage of the E2000 series became

the L-shaped bracket.

—{ Manual stage alignment unit (5-axis) | Eggg%eries

E2000/E2001 series is 5-axis unit with

the high resolution manual stage (XYZ) and tilt stage (6x6y) .
This is a perfect choice for the single core device alignment,
focusing manual operations.

E2001 is the symmetrically opposite XY axis of E2000.

—| Manual stage alignment unit (6-axis) | E2200 series

E2200 series is 6-axis unit which consists

of the high resolution manual stage (XYZ), tilt stage (6x6y)

and goniometer stage (62).

This is the most efficient unit for the multi core devices,

which require rotation control as fiber array or an optical waveguide.

—| Motorized stage alignment unit (3axis) | ES30017 .

This is combination unit of motorize XYZ + manual tilting (0x6y)
stages, and motorize stages are easy use for the single core
ES3700 series is the best choice for combining visual system due
to enough space on the above.

ox

Ziopwcaass)

© ES3800 series is Combination unit of XY@z + manual tilting stages. P.4-020

—| Motorized stage alignment unit (4-axis) | ES4001 series

ES4001 series is the unit of ES3001(Z axis) + goniometer stage (6z)
This is the most efficient unit for the multi core devices,
which require rotation control as fiber array or an optical waveguide.

—| Motorized stage alignment unit (5-axis) | ES5201 series

This is the linier motorized XYZ stages + tilt (9x0y) stages.
This is a perfect choice for the alignment of single core devices.

—| Motorized stage alignment unit (6-axis) | 36201/ . - —

ES6201/ES6701 series is the unit

of linier motorized XYZ stages + tilt (Ox0y6z) stages.

This is suitable for many devices, such as single mode fiber,

fiber array, optical waveguide or many optical elements,

require to align 6 directions.

ES6701 series is the best choice for combining visual system due
to enough space on the above.

C General purpose alignment control system:DA200MP serigs : P.4-063




EMoldel/Option

ES3001 [ | [ -[ -[ ]

I

: Overhang option W

1.Base type
The base type for stage unit.

2.0verhang option W

: Base type

5 I Y axis angular option 8A/8B
4 Select L type/R type LR

3 : Select a tilt stage
2
1

Attachable tilt stage in overhang to the optical axis direction with overhang plate when

it is difficult to close the device due to the interference of stage.

(CSee WEB for details)

3.Select a tilt stage
Select a tilt stage. (G P.4-039)

A=Inner tilt stage (B50) The center of rotation is in inside.
B=Outer tilt stage (B51) The center of rotation is in outside.

4.Select L type/R type L/R

Select a L/R of stage unit.

5.Y axis angular option 8A/8B
Used for a device end-face which is cut 8 degree.
The Y axis stage can be traveled in 8 degree tilt.

There are A/B type according to cutting.

6.0Others

Removable a fixation bracket instead of a tilt stage in E2000S.

(©See WEB for details)

Can change the stage stroke depends on model types
in ES5201/ES620 series. (Option[10] [20 ] ©P.4-021, 023)

e
&

Over hang plate

]
S

10 10 120 120 1010, 120
A= a——( | |

ES3800-8A
(L/R 1set Model)

ES3800-8B
(L/R 1set Model)

M Correspondence table
1 _tsgze i‘:ﬁggwg 3.Select a tilt stage | 4.Select L type/R type | 5.Y axis angular option 6.0thers
w A B L R 8A 8B
Manual stages alignment unit (3-axis) | E2000S O O A A No bracket, available option
Manual stages alignment unit (5-axis) E2000 Q Q O Q Q = =
E2001 @) O ©) O O A A
Manual stages alignment unit (6-axis) | E2200 O A O O O A A
ES3001 O O O O O
Motorized stage alignment unit (3-axis) | ES3700 O O
ES3800 O O L/R 1set Model
Motorized stage alignment unit (4-axis) | ES4001 O O O O O
Motorized stage alignment unit (5-axis) | ES5201 O O A A Available stroke change option
) ) ) . | ES6201 [©) @) A A Available stroke change option
Motorized stage alignment unit (6-axis) ES6701 ) O

O : Catalog standard A : Custom-designed ~—_: Without

setup

Juswugije Jaqi [eando

WG
alignment

LD/PD
alignment

alignment unit

Motorized
alignment unit

Fiber holders
Device holders

Adaptors

Accessories
for alignment

Stersomicroscope

Lens tube

Monitoring

Lighting

UV equipment

Probe

controller

alignment

LD/PD
alignment

(=3 2
==z B35 g HEE
@D o | 2o 3 = 23 = EE]

S |23 2% e 5
3133 o E}

gl"s &

-~ - B (7



juswugije Jaqi [eando

WG
alignment

LD/PD
alignmen

gz
=
83

Manual
alignment unit

Motorized
alignment unit

Fiber holders

Device holders

Adaptors

Contact
sensing meter

Accessories
for alignment

Stereomicroscape

Lens tube

unit

Lighting

Probe

Alignment
system

Alignment
controller

= =
= =
g
g

alignment

LD/PD
alignment

| Optical Fiber Alignment

Holder Guidance

HFiber holder
Market of optical communications is requried high accuracy.

The holders are designed with high accuracy but easy handling for detachable.

You can select your holders based on your meeting specs.
© Select a fiber from P.3-150

Fiber holder

Fiber holder Fiber holder for proximity Rotation fiber holder

Automatic rotation fiber holder Automafc roafon fber hoder for proximiy

-

Appearance

Fiber holder

Fiber array holder FC connector holder Ferrule holder

Preset base

Preset style fiber holder |Preset style V groove holder| Preset style FA holder

Appearance - 5 ' - “‘m'
: =t T
™ o
Uses
—
p— (]
Model E300 E310 E330 E340
Page

FS266N

Al holders can be mounted on
the tilt tables and stages.

All holders have key groove to match the rotating center
and optical axis. Mount on the tilt stage operates easily
with M3 screw x 2pcs.




M Deviation of the power loss related rotating angle
Fibers are fixed by rotating holer (left-hand side) and normal holder (right-hand side) and traveling angle of the rotating holder.

(Fiber=1.3um SMF, 10um core diameter)

Measurement optical system U R
L]
L]
01F R S e o e
LD light source Power meter ° o .
L]
3 g ool ,
o °
— . Y
= =] (B) 03 °
-04 1
-0.5 I I I
0 50 100 150 180

M Deviation of the time position related backlush

The rotation angle of the holder (Deg.)

Fibers may distort in the part of clad and jacket. Backlush may occurs in the time of changeover the forward reserve Backlush may occurs in the time of changeover the forward reserve.
Temporal change of rotation angle may occur because twisted will return to average levels with time.

Measurement optical system

o
—
o
T
[¢]

o

LD light source Power meter é O\
% o y o
— 0.05| A Leave for2 min. o
= = = (uw) 4\ (0.5°) 4/000820000049
5 o o o o
°© ‘ °© OBacklash amount (1.2°) © T °© tsmén:;?:m or
0.00 L I ,_reversed
i @) @ 725 730 735 740
S Polarizing prism MMF Pulse number (Half step)
Connector HR10A-10J-12P
M Controller Connection diagram
1 —Blue
Motorized rotary fiber holder used 2 — Red
5 phase stepping motor for rotation. i : gﬁggge (PMM33BH2-C16)
Our controller DS102/DS112 are g — Black /o, o
recommended for FS266 holder driving. 7 %
C Controller DS102/112: P.1-189 g
© General purpose alignment control 1?
system:DA200MP series: P.4-063 2
L

MPre-set type holder
The pre-set type holder is mounted on pre-set base.

Quick-release with mounting a positioning pin and clamp, and also it is good for the reproducibility of the position.

L=

Fiber array

Tilt stage

BMExample

juswusije Jaquy jeando

WG
alignment

LD/PD
alignment

alignment unit

Motorized
alignment unit

Fiber holders
Device holders

Adaptors

sensing meter

Accessories
for alignment

Stereomicroscope

Lens tube

Monitoring

Lighting

UV equipment

Probe

controller

alignment

LD/PD
alignment

=3 =
ER FIE g HEE
3 g
M EEE 5" = o EE
o0
@ @
=21 = @




juswugije Jaqi [eando

Manual
alignment unit

Motorized
alignment unit

Fiber holders

Adaptors
Contact
sensing meter
Accessories
for alignment

Monitoring
unit

CcCD

C

Lighting

ra

Align
system
Alignment
controller
WG
alignment
LD/PD
alignment

| Optical Fiber Alignment

Holder Guidance

M Device holder
There are variety of fiber device for alignment.
The device holder is designed for fixing it to the device unit and can be aligned accurately.

e

Device holder
WG holder

Appearance |

Appearance

Device holder (preset style)

Preset style WG holder

-

Appearance |




EMount to the device unit
The device holder is designed for mounting the device unit (E1000).

*¢In case of the bottom is screwed, should be removed key-plate of the device.

Device unit

MPre-set style holder
The pre-set holder should be mounted to the pre-set base.

M Device holder application example

It is easy to take off and on with mounting a positioning pin and clamp, and also it is good for the reproducibility of the position.

Waveguide

WG holder

Base
*Not to be attachable to the tilt stage

Device unit E1000
(No key)

MHolder adaptor
This adaptor is for the device holder.

HExample

It is designed so that the optical axis height becomes 80mm by adding F270-PB10/20/26 adaptor to the device holder.

This adaptor can be helped in order to avoid any interference of the alignment.

Holder adaptor

HWHolder adaptor usage example

juswusije Jaquy jeando

WG
alignment

LD/PD
alignment

alignment unit

Motorized
alignment unit

Fiber holders
Device holders

Adaptors

sensing meter

Accessories
for alignment

Stereomicroscope

Lens tube

Monitoring

Lighting

UV equipment

Probe

controller

alignment

LD/PD
alignment

Q=
SeaE FIE 3 HEG
o |25 |83 2o |” g s
333 = =3 s
] ]
21 =



juswusije Jaquy jeando

LD/PD
alignment
Aligni
components
Manual
alignment unit
Motorized
alignment unit
Fiber holders
Adaptors
Contact
sensing meter
Accesst

for alignment
Monitoring
unit

Alignment
controller
WG
alignment
LD/PD
alignment

4
017

| Optical Fiber Alignment

© See WEB for R type external dimension

Manual Stage Alignment Unit (3-axis): E2000S
@E2000 is a 3-axis unit with the high resolution manual stage (XYZ).

@If tilt alignment (Ox8y) is not required, E2000S is sufficient.
ME2000S-L

@it is the type that a tilt stage of the E2000 series became the L-shaped bracket.

A24-1

; W

Z(Optical axis)

E2000S; 15

X Y z Ox Oy 0z
B10-60LN | B30-60LK |[B10-60RN —
B10-60RN|B30-60RK|B10-60LN —

Goarse mofion : 6.5mm ~ Fine motion : £0.3mm —
Goarse motion : 10um/scale _Fing : 0.5um/scale —
130mm > E,
Accessory: Installation screws (Hexagon socket head 4 of M6-12)

Weight
1.9kg

L | E2000S-L
R | E2000S-R
Travel distance
Resolution
Optical axis height

165.5

109

£

> [O[©@
Sl
.J‘:a"ﬂ

£
[ 0% |=
RS
"ofo!o‘.=l

B Model/Option
L[]
E2000S 5" Ry

—L L : Lefttype. R : Right type
Blank : Normal, O : No bracket

Unit base model number

165.5

120

E2000S0-L
Available non-holder bracket type

CAD
2D

© See WEB for R type external dimension

Manual Stage Alignment Unit (5-axis): E2000

E2000A-L

@E2000 series is 5-axis unit with the high resolution manual stage (XYZ) and tilt stage
(Ox, 6y)

@This is developed for the manual alignment unit, so that it is the perfect choice
for the single core device alignment.

: D A24-1
Y
£
© ©
Oy l.
| [ofleojel |
) i
SO O
Z(Optical axis) X S T
E2000A;L* E2000A:R
X Y 4 Ox Oy Weight
L | E2000A-L |B10-60LN | B30-60LK |B10-60RN B50-60LN — 21k
R | E2000A-R |B10-60RN|B30-60RK|B10-60LN B50-60RN — 1K
Travel distance | Coarse motion : £6.5mm _ Fing mofion : +:0.3mm +3° — g
Resolution Coarse - 10um/scale Fing : 0. 5um/scale 33.8”/scale\33.4”/scale — g
Optical axis height 130mm \
Accessory: Installation screws (Hexagon socket head 4 of M6-12)
M Model/Option |
7]
= R] 5
—[ L : Lefttype. R : Righttype \D
A ©Inner tilt. B : Outer tilt
Blank : Normal. W : Over hang type 29
Unit base model number
=
‘ 120

E2000B-L E2000WA-L
(Outer tilt) (Over hang type)

Available outer chilt and over hang type



Manual Stage Alignment Unit (6-axis): E2200B

@2200 series is 6-axis unit, which consist of the high resolution manual stage, tilt stage and goniometer stage.

@This is the most effective unit for multi core device alignment, which need rotation control of optical axis such as fiber array
and an optical waveguide.

@Available an inner-tilt type. Please contact us for detail.

E2200B:L°

Dimensional outline drawings

E2200B-R

@Available an unit-package for splitter alignment.

@Prepare the measurement equipment (CSM) which is enabled
facingand GAP adjustment.

©P.4-068 Waveguide manual alignment package (E8203B)

©P.4-040 Contact sensing meter(CMS)

ME2200B-L

A24-1

ME2200B-R

A24-1

@

Y
® 0 Mo 5@ ® -
8 8
e o”
} 10
X Y 4 Ox Oy Weight
L E2200B-L B10-60LN B30-60LK B10-60RN B51-60LN B58-60UC 2 5k
R E2200B-R B10-60RN B30-60RK B10-60LN B51-60RN B58-60UCR K
Travel distance Coarse motion : £6.5mm__ Fine motion : +0.3mm +25° +4°
Resolution Coarse : 10um/scale  Fine : 0.5um/scale 29.3”/scale \ 27.8” /scale 33”/scale
Optical axis height 130mm
. Accessory: Installation screws (Hexagon socket head 4 of M6-12)
EModel/Option
E2200B-
Vv

[ =

L : Lefttype. R : Right type
Blank : Normal. W : Over hang type
Unit base model number

E2200WB-L
Available over hang type

Juswugije Jaqi [eando

Motorized
alignment unit

Fiber holders

Device holders

Adaptors

[=) >
S
=
=,

sensing meter

Accessories
for alignment

Stersomicroscope

Lens tube

Monitoring

=
=
=

CCD

UV equipment

Probe

Alignment
system

Alignment
controller

= C 8
(] (1) 3
=
5
[

LD/PD

H
=N =N
[ ()
= =}
IS
@

018



Juswugife Jaqy [eando

2=
[=¥o)
=
@

alignment

Qx> —
S =
= o
23
o
w

g

Motorized
alignment unit

Fiber holders

Device holders

Adaptors

Contact
sensing meter

it

Stereomicroscape

Lens tube

unit

CCD
camel

equipment

Probe

system

Alignment
controller

alignment

LD/PD
alignment

= = r = sz
@ = [T = o
> = = (=R~

3 = S 3

= 1

| Optical Fiber Alignment

Motorized Stage Alignment Unit (3-axis):ES3701

CAD
2D-3D

@This is the unit which designed for integration of the motorized stage into the XYZ axis.

Also the attitude adjustment of tilt (Ox0y) can be controlled by the manual axis.
@!t supports the motorized alignment of the single core device application.
@ES3701 series is the best use for near focusing with a microscope and probe because

there is enough space on a top.

Dimensional outline drawings

IMES3701

80
10

Y ————— .
= § I
3 A D ‘ Center of rotation
Z(Optical axis) =
ES3701-L ES3701-R Center of rotation
SPEC
L type ES3701-L
R type ES3701-R
Axis X Y z x| ey
ggg'r]tion ES3701-L | EKT4-50R2¢%) | EKS3-10L*) | EKT4-50L2¢) EB55-1L
ES3701-R | EKT4-50L2¢ | EKS3-10R“ | EKT4-50R2(*) EB55-1R
Travel distance 50mm 10mm 50mm +2.5°
Optical axis height 160mm
Resolution fymfPulse (Full) | 0.5ym/Pulse(Full) | ym/Pulse(Full) | approx.0.58° | approx.0.57°
0.03um/Pulse (S1/20) |0.05um/Pulse (MS1/10)| 0.03um/Pulse (NS1/20) | /rotation Jrotation
MAX speed 10mm/sec 5mm/sec 10mm/sec - -
Repeatability . _ R
positioning accuracy +0.5um +0.5um +0.5um
Load capacity 0.3kgf
Weight 5.5kg
Accessory Motor cable(D214-2-2E), Installation screws(Hexagon socket head 4 of M6-12)
TS > Dedicated stage for alignment

The repeatability positioning accuracy is tested in a single-axis state.

Motorized Stage Alignment Unit (3-axis):ES3001

@This is the unit which designed for integration of the motorized stage into the XYZ axis.

@Also the attitude adjustment of tilt (OxBy) can be controlled by the manual axis.
@ !t supports the motorized alignment of the single core device application.

Dimensional outline drawings

MES3001A
Y
Oy :
&
——@0 ]
241 5
B D, = o

7 (Optical axis)

-
%
L type ES3001A-L @
R type ES3001A-R =
Axis X y z ox | oy @B i
gggi;on ES3001A-L | KXC06020-G | KXC06020-G | KXC06020-G B50-60LN g © Q_' Lo
ES3001A-R | KXC06020-G | KXC06020-G | KXC06020-G B50-60RN e 0
Travel distance 20mm +3° 5,: ;__
Optical axis height 145mm | 3| =
Rl o.ogﬁnrwr}gﬂlss;ﬁ%q)/zo) e | e - © -
MAX speed 20mm/sec - - 0] 10 4
Rep.e.ata.blllty— +0.2um _ _ 174
positioning accuracy
Load capacity 0.3kgf
Weight 2.7kg
Accessory Motor cable(D214-2-2E), Installation screws(Hexagon socket head 4 of M6-12)
Remarks The repeatability positioning accuracy is tested in a single-axis state.
B Model/Option @-
ES3001

—[ L : Lefttype. R : Right type
A : Inner tilt, B : Outer tilt
Blank : Normal. W : Over hang type

Unit base model number

180

ES3001B-L
(Outer tilt)

Available outer tilt and over hang type

ES3001WA-L
(over hang type)



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

Motorized Stage Alignment Unit (3-axis) Correspond to 8 degree:ES3800 Series M

@This is the unit which designed for integration of the motorized stage into the linear 2-axis of XY and a rotation axis (6z).
@Also the attitude adjustment of a high resolution manual stage (6z) and tilt (9x0y) can be controlled by the manual axis.
@This is the most effective unit for multi core device motorized alignment,

which need rotation control of optical axis such as fiber array and an optical waveguide.
@!t correspond the device that cut element edge 8 degree because Y axis stage is assembled in a 8 degree tilt position.

Z(optical axisiez

(8°) (8°)

juswugije 1aqi [eando

T en
21

Lot

(124)
(124)

e LD/PD

ES380058A
ES3800;8A\ (120) (120) Wanal

ES3800-8B (8°) alignment unit

(240)

10

(¢}

(]

(=]

(240)
2 D =
g3lE°
3 =

8=
235
3

Dimensional outline drawings

IES3800-8A (-8°)

Motorized
alignment unit
R Tl Il sursinrand IR Fiber holders
i o: oD |2 =
® o I Device holders
g6 20l o 2 53
gl e ! A oz Adaptors
~ Y .
o 03235 | |aoyaoy | 3 hssy | Contact
he sensing meter
Accessories
for alignment
: :
e R of o ?
+ s +— +
N Lens tube
)] = (
33 Monitoring
[ | 0]
[ —— I — [ CCD
[ a0 (10)(10) 120 | cam
o Rtype m
SPEC
Atype ES3800-8A Lighting
B type ES3800-8B
Axis X Y z 0x \ oy 0z W et
oo | Esssonans LUt KXC06020-G | KXC06020-G B10-60RN B51-60LN KGWO0B050T-LC Equpmen
R-unit KXC06020-G KXC06020-G B10-60LN B51-60RN KGWO06050T-RC
Travel distance 20mm 20mm Eﬁg?ﬁogg;'on i%g?:]m +2.5° +2.5° +10° m
Optical axis height 145mm Brob
' 1um/Pulse(Full) Coarse motion : 10pm/scale | . oq n o7 qn 0.00450°/Pulse(Full) robe
Resoliton 0.05um/Pulse (MS1/20) Fine motion  : 0.5pm/scale | = 29-3"/scale | =27.8"scale | g o5 puise(Half
MAX speed 20mm/sec — — — 22.5°/sec Alignment
Repeatability positioning accuracy +0.2um — — — +0.003° system
Load capacity 0.3kgf .
Weight 3.5k ggﬁt':g‘lf:r‘
Accessory Motor cable(D214-2-2E). Installation screws(Hexagon socket head 8 of M6-12)
Remarks The repeatability positioning accuracy is tested in a single-axis state. WG
HModel/Option - @
p ES3800-8 LD/PD

—L The direction of 8 degrees cutting - A, B

. . . ——— Unit base model number
W Available the type of Y axis zero degree in conformity to a device end-face zero degree cutting.

Please contact us for details.

=R =X
Q ()
=S =]
3 3
@D



(@)
i/
="
Q
o
=
o
[°]
=
D
&
=}
3
®
3
-

2=
[=¥o)
=
@

alignment

Qx> —
S =
= o
23
o
w

g

Motorized
alignment unit

Fiber holders

Device holders

Adaptors

Contact
sensing meter

it

Stereomicroscape

Lens tube

unit

CCD
camel

equipment

Probe

system

Alignment
controller

alignment

LD/PD
alignment

= = C = g5
@ = [T = o
3 = 5 T8

3 = S 3

2 =1

| Optical Fiber Alignment

Motorized Stage Alignment Unit (4-axis): ES4001 Series ﬂ

@This is the unit which designed integration of the motorized stage into - : : :
the linear 3-axis of XYZ and the rotation axis (62) in the optical axis direction. DA T T TS
Also the attitude adjustment of tilt (xBy) can be controlled by the manual axis.

This is the most effective unit for multi core device motorized alignment, WES4001A-L
which need rotation control in the optical axis direction such as fiber array and an optical waveguide. 2
A o [ Le]le
3l s P
EE 4o
"ggilo

Center of rotation

(10)
(20)(37)
i

(8.5)

(93) =1 (5
(120)
,
L type ES4001A-L
R type ES4001A-R ~ o
Axis X | v [ 2 ox | oy 62 a T
gggi]t}on ES4001A-L KXC06020-G B50-60LN KGW06050T-LC e — § [] [
ES4001A-R KXC06020-G B50-60RN KGW06050T-RC o ra] E! -
Travel distance 20mm +3° *10° B2 5
Optical axis height 145mm g ; =
Resolution Tum/Puise (Full =33.8" | =334" | 0.0045°/Pulse (Ful) E__{
0.05pm/Pulse (MS1/20) /scale /scale 0.00225°/Pulse(Half) ©
MAX speed 20mm/sec — 22.5°/s6C H s I L——1
chpggtgymty positioning £0.2ym _ +0.003°
Load capacity 0.3kgf
Weight 3.5kg a x B
Accessory Motor cable(D214-2-2E), Installation screws(Hexagon socket head 4 of M6-12) s ( 4 B
Remarks The repeatability positioning accuracy is tested in a single-axis state. A - “ = A N
i A : :
Il Model/Option is 4001 @ _ @ | ﬂ ‘ I
—L ‘ (120) o) i‘ 120 ‘ (55 || (5)
L : Lefttype. R :Ri
bttt B s ES4001B-L ESA001WA-L
Blank : Normal. W : Over hang type (Outer tilt) (over hang type)
Unit base model number Available outer tilt and over hang type

Motorized Stage Alignment Unit (5-axis): ES5202 M

@This is the unit which designed integration of the motorized stage into the linear 3-axis of XYZ and the tift two axes. N . - .
- ) ) - Dimensional outline drawings
@ !t supports the motorized alignment of the single core device application.

Y WES5202-L
0y a
Z(Optical axis) 6x X R ji%
ES5202-L ES5202-R ‘ il
SPEC T e orane

L type ES5202-L. ES5212-L, ES5222-L
R type ES5202-R. ES5212-R. ES5222-R TN\ A

Axis X Y z Ox Oy % 1k

ES5202-L KS102-30LG | KXC06020-G | KS102-70RG | KGW04040T-LC| KGW06075T-RC - 5 g

ES5202-R | KS102-30RG | KXC06020-G | KS102-70LG | KGWO04040T-RC) KGW0G075T-LC 3 MM
Sggﬁ}on ES5212-L KS102-70LG | KXC06020-G | KS102-70RG | KGW04040T-LC| KGW06075T-RC feomalw ||

ES5212-R KS102-70RG | KXC06020-G | KS102-70LG | KGW04040T-RC| KGW06075T-LC ‘ uriézu

ES5222-L KS102-70LG | KXC06020-G | KS102-100RG| KGW04040T-LC| KGW06075T-RC ”“Jl (160) aw | o

ES5222-R KS102-70RG | KXC06020-G | KS102-100LG | KGW04040T-RC| KGWO06075T-LC

ES5202 30mm 70mm
Travel  [ES5212 70mm 20mm 70mm +8° +8° W Model/Option

ES5222 70mm 100mm
Optical axis height 189mm ES52-= -

Pulse/Full 1um 0.0030° 0.0032° 77@ @
Resolution| Pulse/Half — 0.0015° 0.0016° @ —E L: Lefttype, R : Right type

Pulse/MS 1/20 0.054m — - L Stroketype : 02,1222 3Refer o a SPEC lst
MAX speed 10mm/sec 20mm/sec 10mm/sec 15°/sec 16°/sec L Unit base model number
gggjggy""y [Tl +0.2ym £0.005° +0.008°
Load capacity 0.3kgf
Weight ES5202 : 6.6kg / ES5212 : 7.0kg /ES5222 : 7.3kg
Accessory Motor cable(D214-2-2E), Installation screws(Hexagon socket head 4 of M6-12)
Remarks The repeatability positioning accuracy is tested in a single-axis state.




URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

Motorized Stage Alignment Unit (6-axis): ES6702

@This is the unit which designed for integration of the motorized stage into the linear three axes of XYZ and the tilt 3-axis (Ox, 0y, 02).
As this is omnidirectional controllable, so the most effective for all kinds of motorized alignment device whatever you want such as Y
single core optical fiber, fiber array, optical waveguide and each optical element.

ES6702 series is the best use for near focusing with microscope and probe because there is enough space on a top.

/ Optical axis)eZ

juswugije 1aqi [eando

W Proximity probe example

LD/PD

= D=
B5I8®
3312

Manual
alignment unit

ES6702-L ES6702-R

8=
235
3

Motorized

Dimensional outline drawings algn unt
MES6702-L MES6702-R m
R Fiber holders
i Device holders
S % i *% e Adaptors
T Ty eeedll, )l
s lj—l»_ — o s él eees = [ — ; COnl_aci
2 = —— sensing meter
@ (18.5) J _ .
- ‘ = N @ | 63 P 23| 3 Accessories
= ’ ! 60 o) for alignment
(70) (160)
f— 3 3 I Stereamicroscope
1 i\

Lens tube

Monitoring

=
=
=

(185)

CCD

cam
Lighting
SPEC :
L type ES6702-L UV equipment
R type ES6702-R
Axis X Y z Ox Oy 0z
gggi]t}on ES6702-L EKT4-50L2 %) EKS3-10L %) EKT4-50L2 %) KGW06100T-LC KGW04040T-RC KGW06075T-LC
ES6702-R EKT4-50R2 ) EKS3-10R ) EKT4-50R2 () KGW06100T-RC KGW04040T-LC KGW06075T-RC

Travel distance 50mm 10mm 50mm +6° +8° +8° Probe
Optical axis height 206mm
Resallition Tpm/Pulse (Full) 0.5um/Pulse (Full) 1um/Pulse (Full) 0.002466°/Pulse (Full) | 0.0030°/Pulse (Full) | 0.0032°/Pulse (Full) Alignment

0.054m/Pulse (MS1/20) |0.05um/Pulse (MS1/10) |0.05um/Pulse (MS1/20) | 0.001233°/Pulse(Half) | 0.0015°/Pulse(Half) | 0.0016°/Pulse(Half) system
MAX speed 10mm/sec 5mm/sec 10mm/sec 12.5°/sec 15°/sec 16°/sec .
Repeatability positioning Alignment
accurac +0.5pm +0.5pum +0.5um +0.003° +0.005° +0.003° controller

Yy
Load capacity 0.3kgf (e
Weight 6.7kg
Accessory Motor cable(D214-2-2E). Installation screws(Hexagon socket head 4 of M6-12)
REiES > Dedicated stage for alignment LP/ PD
The repeatability positioning accuracy is tested in a single-axis state.

o o
Q ()
=S =]
3 3
@



juswusije Jaqu jeandQ

WG
alignment

—
o

alignment

8
23

Manual
alignment unit

Motorized
alignment unit

Fiber holders

Device holders

Adaptors

Contact
sensing meter

Accessories
for alignment

Stereomicroscape

Lens tube

unit

CCD
camera

Lighting

Probe

system

Alignment
controller

alignment

LD/PD
alignment

| Optical Fiber Alignment

Motorized Stage Alignment Unit (6-axis): ES6202/ES6212/ES6222 ﬂ

@This is the unit which designed for integration of the motorized stage into
the linear three axes of XYZ and the tilt 3-axis (0x, By, 02).
As this is omnidirectional controllable, so the most effective for all kinds of
motorized alignment device whatever you want such as single core optical
fiber, fiber array, optical waveguide and each optical element.

@Available Y axis tilt type according to a device edge 8 degree cutting.

Z Optical axis;e z

Dimensional outline drawings

MES6202-L

(38.5)

(170)

(60)

iLiha=

(10)

(18.5)
(141) (2

(78.5)

(21)

Center of rotation

ES6212-L ES6212-R NEEnE =
Bl IR
loopumue ol
(- g 1
SPEC
L type ES6202-L, ES6212-L, ES6222-L
R type ES6202-R. ES6212-R, ES6222-R
Axis X Y z Ox Oy 0z
ES6202-L KS102-30LG KXC06020-G KS102-70RG KGW04040T-LC KGWO06075T-RC KGWO06075T-LC
ES6202-R KS102-30RG KXC06020-G KS102-70LG KGW04040T-RC KGW06075T-LC KGW06075T-RC
gggi]ﬁon ES6212-L KS102-70LG KXC06020-G KS102-70RG KGW04040T-LC KGW06075T-RC KGW06075T-LC
ES6212-R KS102-70RG KXC06020-G KS102-70LG KGW04040T-RC KGWO06075T-LC KGWO06075T-RC
ES6222-L KS102-70LG KXC06020-G KS102-100RG KGW04040T-LC KGW06075T-RC KGW06075T-LC
ES6222-R KS102-70RG KXC06020-G KS102-100LG KGW04040T-RC KGWO06075T-LC KGW06075T-RC
ES6202 30mm 70mm
Thavel - [ESe212 70mm 20mm 70mm +8° 8° +8°
ES6222 70mm 100mm
Optical axis height 214mm
Rl 1um/Pulse (Full) 0.0030°/Pulse (Full) 0.0032°/Pulse (Full) 0.0032°/Pulse (Full)
0.05pm/Pulse (MS1/20) 0.0015°/Pulse(Half) 0.0016°/Pulse(Half) 0.0016°/Pulse(Half)
MAX speed 10mm/sec \ 20mm/sec \ 10mm/sec 15°/sec 16°/sec 16°/sec
gggff‘;a?'"w positioning +0.2um +0,005° +0,003° £0,003°
Load capacity 0.3kgf
ES6202 7.2kg
Weight ES6212 7.6kg
ES6222 7.9kg
Accessory Motor cable(D214-1-2E/D214-2-2E). Installation screws(Hexagon socket head 4 of M6-12)
Remarks The repeatability positioning accuracy is tested in a single-axis state.
M Model/Option
Es62(%-

@E L L : Lefttype, R : Righttype

Stroke type : 02,12,22
%Refer to a SPEC list

Unit base model number



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

Device Unit Fixed Type: E1000 E ﬂ
@Unit for the device holder

Can be specified the height for each Tmm.

Y

o
k=]
=4
HME1000-h 2M6 slotted hole for bolt 8
o —
T oy =4
3| ++ o 8| R
= =
= =
32 Q
0| \eM3eop =]
% | 475 oQ
80 =}
3
(1)
=
-~

B
-

SPEC

Model E1000-h

Height h+15.5mm

Base plate A24-7 LD/PD
Main materials + Surface processing| Aluminium—Black alumite treatment i

scfe=
S B
3 3

Accessory: Installation screws (Hexagon socket head 2 of M6-12)

Manual
alignment uni

Fiber Holder: F260

- — - Motorized
.Thls_ holderis to fix the core wire. ) ) Dimensional outline drawings alignment unit
@Available for 250um and 900pm of jacket's radius.

[=) 8=
S S§
g 3

Type of holder

WF260-L Device unit
Fiber jacket part V groove for holding Fiber clad part V groove for holing
_____ r Fiber holders
o[llollofld " Device holders
Sheath part V groove for holing = =
2-M3 slotted hole for bolt 33 11
Adaptors
[l Moldel/Option i
Model F260-1 F260-2 3 ! "
L | R L [ R AIL] : 5 sensing meter
Clad diameter 125~250pm F260 - @@ o B o L] = Accessories
Jacket diameter 250um | 900pm o for dlignment
Fixing type Magnetic force —LChoice of
Weight 0.1kg the clqmp arm direction Serank
Wain materdls - Sufce processing| _ Aluminium—White alumite treatment et dameter LIRS
Accessory: Installation screws (Hexagon socket head 2 of M3-10) ; Eg: %ggﬁm
Lens tube

. o M Monitoring
Fiber Holder for Proximity: F263 20
@'tis a holder to use a core wire fiber in paralll. o

The optical fiber clad is fied with vacuum, and jacket is fixed with magnet.
In case of using two optical fibers in parallel, fiber holder for proximity of opposite hand should be placed face to face. HWF263-L

The optical fiber center-to center can be close minimum 125um.
(When the clad radius is 125ym)

Space of one side and the bottom of optical fiber are available for any other elements. 2-M3 slotted hole for bokt as 5(Hose plug)
@Available for 250pm and 900pm of jacket's radius. 2 UV equipment
@~Require the vacuum pump for using.
© Vacuum pump set : EVI0A : P.4-059 = 3 &

20 /| 21
Fiber clad part Probe

= C 8
(o] [T 3
=
=
(]

B
O ;
”/[X}fgﬁg{(\\\\ V groove for holding Vacuum for holding
® a1zs © 14 .
Fiber jacket holding part “‘L‘ Alignment
Shift clamp | system
Detailed holding part L Eg& _ 2 .
. g Emes mmu= Alignment
SPEC [l Model/Option o —— | | controller
i F263-1 F263-2 50 oo
Ll w AL .
Clad diameter 125ym F263 - @@ alignm
Jacket diameter 250pm 900pm T 1 LD/PD
Fixing type Vacuuming and magnetic force Selection o :
- g yp 9 g f a clamp arm direction allgnme
Weight 0.2kg Selection
Main materials + Surface processing|Aluminium —White alumite treatment ~ Stainless % of a fiber jacket diameter
(3%Fiber clad part) ; ; Eg: : ggg Z m m
Accessory: 2m of silicon hose and installation screws (Hexagon socket head 2 of M3-10) L Typeof holder




juswugije Jaqi [eando

WG
alignment
LD/PD
alignment
Aligni

comp!

Manual
alignment unit

Motorized
alignment unit

Fiber hold
Device holders
Adaptors

Contact
sensing meter

Accesst
for alignment

Monitoring
unit

CCl

C

Lighti

Probe
Alignment
system
Alignment
controller

WG

alignment

LD/PD
alignment

| Optical Fiber Alignment

Rotation Fiber Holder:F264 M

@This holder is for polarization-preserving fiber rotation. DI lonal outline draw
mensional outline drawings
@The positional alignment amount of the tip of optical fibers at the rotating is so small because this ! ! Ut wing

holder will rotate based on a cladding of optical fiber. HF264-L © See WEB for R type external dimension
@Cladding is fixed by vacuum pump, and the jacket is fixed at the two points by the magnet.
@Correspond to a jacket diameter 250um, 400m and 900um.
@A vacuum pump may be required when using this holder. Rotating scale 18 14 ‘
@The end of the fiber will not be positioned to the rotation center when it is mounted on ES5201 and (0 degree~330 degree, \
ES6201 seri atintervals of 2 degree)
series.

CVacuum pump set : EV10A : P.4-059 Fiber rotation knob

2-M3 slotted hole for bolt

il

06

32
40

=L
Fixed optical fiber cladding vacuum. &J
(When the jacket rotate, Rotary clamp

also the cladding rotates.) Fiber jacket
V groove for holding

e

3.5 (Hose plug)
Fiber clad part
335 36.5 -
‘ l‘ 205 Vag)uum for holding
T E=R i
& B ;'\L ML TB = t
N S Al ol
Optical fiber jacket part | =
The vacuum may cause it e 1 |
to come loose from the 225 |14
jacket characteristic. 20 50

B Model/Option

1]
F264-2 1L
SPEC @
Model F26‘4-1 F264-2 F264-3 T Lcmicg of the clamp arm direction

L R L ‘ R L ‘ R of a fiber jacket diameter

Clad diameter 125um 1: For 250 um

; 2 For 900 um
J.ac.ket diameter 250um \ : 900um : \ 400um 3" For 400 um
Fixing type Vacuuming and magnetic force Type of holder
Travel distance 360° (2° scale)
Weight 0.2kg
Main materials + Surface processing Aluminium—White alumite treatment  Stainless %

(3Fiber clad part)

Accessory: 2m of silicon hose and installation screws (Hexagon socket head 2 of M3-10)

. . . CAD
Rotation Fiber Holder (without vacuum):F264N ﬂ
@ Without vacuum on the tip.

HF264N-L © See WEB for R type external dimension
2-M3 slotted hole for bolt 7 65

IMTilt stage mounted example

Rotating scale

(0 degree~330 degree, . —

at intervals of 2 degree) | — —

* 9
Fiber rotation knob_1—
1
&
Rotary clamp .| _J 5
Fiber jacket holding part
Model F264N-1 F264N-2 F264N-3 ¥ groove for hoiding)
L | R L | R L | R 34 225
Jacket diameter 250um 900um 400um 12 65
Fixing type Magnetic force = I [ ! )
Travel distance 360° (2° scale) — ] -
Weight 0.1kg 5 1] i "
Main materials + Surface processing Aluminum-White alumite treatment A ! !
Accessory: Installation screws (Hexagon socket head 2 of M3-10) &
B Model/Option A P
20 315 5
56.5

1]
F264N- %
LChoice of the clamp arm direction

Selection of a fiber jacket diameter
1:For 250 um

2t For 900 um

3 For 400 um

Type of holder




Motorized Rotation Fiber Holder:FS266 E ﬂ

@This holder is rotated polarization-preserving fiber automatically. - : TR
@The positional alignment amount of the tip of optical fibers at the rotating is

so small because this holder will rotate based on a cladding of optical fiber. BFS266-L © See WEB for R type external dimension
@Cladding is fixed by vacuum pump, and the jacket is fixed at the two points Connector HR10A-10P-125 (HRS)
by the magnet. Connector HR10A-10J-12P (HRS)
@Stepping motor is mounted, and resolution is 0.247°. Rotating scale(0degree~330degree, at intervals of 2degree)
@Correspond to a jacket diameter 250pm, 400pum and 900um. 18 4 2Bt ho fortot '6~2 5
@A vacuum pump may be required when using this holder. \ﬁ\ﬂ(ﬂ o
@Not applicable ES5201 and ES6201 series. o F&° Lﬂg = TERNE o
> Sllol
CVacuum pump set : EV10A : P.4-059, Controller,Driver : P.1-189 2 - E E o™ =
@) W sl =%
Slitting for optical fiber set )
245 45 p=
100
L Fiber clad part
Fiber jacket 3.5 (Hose plug) Vacuum for holding
V groove for holding 63.5 365
Stepping motor 12 205
Manual rotary knob TW-
Optical iber clad part Optical fiber jacket part — *:Hk_x (
£| gl B IBR /-
ES =l
‘22.5 14
13|31 69
HWModel/Option
SPEC @
FS266-1 FS266-2 FS266-3 FS266-2]
Model 1 W&VY
L [ R L [ R L [ R
Clad diameter 125um
A Select a clamp arm direction
Jacket diameter 25O“m ‘ QOOUm ‘ 4OO“m Select a fiber jacket diameter
Fixing type Vacuuming and magnetic force 1 i For $250um
Stepping motor PK523HPB-C15 5 phase stepping motor (Oriental Motor Co.,Ltd.) g ; Eg: ziggﬁm
Travel distance 260° (With CW and CCW limit sensor) Type of holder
Minimum resolution 0.247°/Pulse (Ful)
Weight 0.3kg

Main materials - Surface processing) — Aluminium —White alumite treatment Stainless ¢
(3%Fiber clad part)

Accessory: Motor cable (D214-2-2E)
2m of silicon hose and installation screws (Hexagon socket head 2 of M3-10)

‘ Motorized Rotation Fiber Holder (without vacuum):FS266N E M

@Without vacuum on the tip.
P Dimensional outline drawings

@Not applicable ES5201 and ES6201 series.

BFS266N-L © See WEB for R type external dimension

Connector HR10A-10J-12P (HRS)
Rotating scale (0degree~330degree, at intervals of 2deqree)
6

E— 6.5 . 6.5 2-M3slotted hole for bolt | 15
N
|
&S
5 @ |
SPEC
FS266N-1 FS266N-2 FS266N-3
Model
L [ R L [ R L [ R Stepping motor 76 205
Jacket diameter 250pm 900um 400pm Manual rotary knob 12. 165 . .
Fixing type Magnetic force — =g | [ Fiberjacket
Stepping motor PK523HPB-C15 5 phase stepping motor (Oriental Motor Co.,Ltd.) & %lfg} D
Travel distance 260° (With CW and CCW limit sensor) — T = b~
Minimum resolution 0.247°/Pulse (Full) 1
Weight 0.2kg
Main materials - Surface processing| Aluminium—White alumite treatment
Accessory: Motor cable (D214-2-2E)
Installation screws (Hexagon socket head 2 of M3-10)
EWModel/Option

1]
FS266N-2 &
;3[R
_— 1: For 250 um
Select a clamp arm direction 2% For 900 um

Select a fiber jacket diameter 35 For 400 um
Type of holder

Juswiusije Jaqy [eando

LD/PD

= =
N B
3312

Motorized
alignment unit

Fiber holders

Device holders

Adaptors

o s=138 >
2 S 15§
2 35 3
= =

=

sensing meter

Accessories
for alignment

Stereomicroscope

Lens tube

Monitoring

=
=3
=4

CCD

UV equipment

Probe

Alignment
system

Alignment
controller

= C 8
(o] [T 3
=
=
(]

LD/PD

o o
(T [
=] S
3 3
@



juswugije Jaqi [eando

WG

alignment
D

alignment
I

LD/PD

Aligni

comp!

Manual
alignment unit

Motorized
alignment unit

Fiber hold
Device holders
Adaptors

Contact
sensing meter

Accesst
for alignment

Monitoring
unit

CCl

C

Lighti

Probe
Alignment
system
Alignment
controller

WG

alignment

LD/PD
alignment

027

| Optical Fiber Alignment

Proximity Rotation Fiber Holder: F265

CAD
2D

@This holder can be rotated and parallel polarization-preserving fiber.

@ The positional alignment amount of the tip of optical fibers at the rotating is so small
because when the part that hold a jacket is rotating, optical fiber.

@ Cladding is fixed by vacuum pump, and the jacket that has a rotation mechanism will

fixed with a magnet.

proximate between other device and jig.
@Correspond to a jacket diameter 250um, 400m and 900um.
@A vacuum pump may be required when using this holder.
@Not applicable ES5201 and ES6201 series.
CVacuum pump set : EV10A : P.4-059

Dimensional outline drawings

MF265-L

Rotating scale 2-M3 slotted hole for bolt 30 1016

© See WEB for R type external dimension

(0degree~330degree,
@ Spaces that are in another direction and the bottom of optical fiber are available atitervals of 2degree) g 3 =~ —-
\hen the fber is mounteg
S
¢3.5(Hose plug)
S
b
25
w0
N~y [
. o) —F ol
a1 R
- N % 1=
30 ‘ 21
Fiber jacket(Stopper for runout) Fiber clad
Vacuum for holding
Fiber jacket holding part Shift clam 1
Rotary cjamg d)r‘
Vaccum fixing i L
DN . 2.
5N ’ 20N
& //'lo"t\\\ D I I
o — Fiber rotation knob (50) | 50 s |0

lModel/Option

1]
F265- %
LSelem a clamp arm direction

Detailed holding part

Model F265-1 F265-2 F265-3 ?e:'eggra gbzesfda;k;‘d'ametef
L | R L | R L [ R 2 For ¢ 900 um

Clad diameter 125um 3 : For 400 um

Jacket diameter 250um | 9ooum | 400um Type of older

Fixing type Vaccuming and magnetic force

Travel distance 360° (2° scale)

Weight 0.2kg

Main materials + Surface processing

Aluminum-White alumite treatment _ Stainless ¢

(3%Fiber clad part)

Accessory: 2m of silicon hose and installation screws (Hexagon socket head 2 ofM3-10)

Fiber Array Holder: F267

CAD
2D

@Holder for fixing the fiber array.

@Fix the fiber array with mechanical clamp from upper.

@The only 3~8mm fiber array can be fixed. Other sizes may be mounted with any parts
change.

Dimensional outline drawings

WF267-L

© See WEB for R type external dimension

Fiber jacket
Part of holding

IlExample of mounting
the fiber array

2-M3 slotted hole for bolt /|30 |18

Device clamp part

Array holding plate

1~3(Applied device thickness)

3~B(Applied devicet width)

|

ae L
Jal

Model F267 0 s =
L \ R 5

Fixing type Mechanical clamp

Weight 0.09kg

Main materials + Surface processing

Aluminum-White alumite treatment

B Model/Option

F267-

" Selecta clamp arm direction
Type of holder L

Accessory: Installation screws (Hexagon socket head 2 of M3-10)

M Compatible with fiber array size

© min3mm w
W 3~8mm‘ L
t :1~3mm



FC Connector Holder: F261

CAD
2D

@Holder for fixing the fiber with FC connector.
@This is a combination of adaptor F16 for a connector and bracket A54 for element adaptor.
@There are two types, one with sheath hold part and the other without sheath hold the part.
@The ferrule end-face is positioned off approx.5mm

the receptacle when a FC connector is inserted.
OF16:P.3-018. A54:P.4-038

Model F261A-1 F261B-1
Applicable fiber Fiber with FC connector

Adoptor F16-2 F16-2
The hold part for sheath No Yes
Weight 0.06kg 0.07kg
Main materials + Surface processing Aluminium—Alumite finishing

Accessory: Installation screws (Hexagon socket head 2 of M3-10)

EModel/Option
F2615 -1
L Select the hold part for sheath
A:NA B:A
Type of holder

Ferrule Holder: F262

Dimensional outline drawings

MF261B-1

M Connector mounting example

2-M3 slotted hole for bolt

© See WEB for F261A-1 external dimension

S
? i
T al
30 205 F16-2
v
~ —
© ©
— .
2 I N @1
N —h b ©) 10)
o ! ; I 1
5 | |15 b _BJ
8 545 40
62.5

CAD
2D

@Holder for fixing the optical fiber with ferrule.

@This is a combination of adaptor F15 for ferrule and bracket A54 for element adaptor.

@There are two types, one with sheath hold part and the other without sheath hold the part.

@Non-standard hole diameter is available. Please contact us for more information. Ferrule into the hole
and tentatively fasten it using an Allen wrench. It is fixed by surface contact without damaging ferrule.

CF15:P.3-018, A54:P.4-038

F262B-1"8

SPEC

Ml Connector mounting example

Model F262A-1.8|F262A-2.5 F262A-3.0 F262B-1.8|F262B-2.5 F262B-3.0
Applicable diameter(¢d) | 1.8mm | 2.5mm | 3.0mm | 1.8mm | 2.5mm | 3.0mm
Adoptor F15-1.8 | F15-25 | F15-3.0 | F15-1.8 | F15-25 | F15-3.0
The hold part for sheath No Yes

Weight 0.06kg 0.07kg

Mai matrils  rfae processing Aluminium—Alumite finishing

Accessory: Installation screws (Hexagon socket head 2 of M3-10)

M Model/Option

F2625-(2.5
3.0
LSelect the ferrule diameter (mm)
1.8, 25, 3.0
Select the hold part for sheath
A:NA B:A

Type of holder

Dimensional outline drawings

HF262B

© See WEB for F262A external dimension

2-M3 slotted hole for bolt

Ferule fixation screw(M3)

(& e |
T
| '_l
]
& ll
G i
30 20 | d
0
N~ —
2 L
ITT — I
) <
] : {:_ & @ | ©
ST [ 1 i
3 o | I8
8 54 40
62
MMounting

Ferrule into the hole and tentativel
using an Allen wrench.

y fasten it

It is fixed by surface contact without damaging

ferrule.

36

21

N

©
e,

sl |l
40
Allen wrench

‘ Ferrule adaptor
>

%;ﬁcal fiber with ferrule

juswusije Jaquy jeando

Guidance

alignment

LD/PD
alignment

p

=18=
EN ELS =
=1 @D
5|8
&

alignment unit

Motorized
alignment unit

Fiber holders
Device holders

Adaptors

Contact
sensing meter

Accessories
for alignment

Stereomicroscope

Lens tube

Monitoring

UV equipment

Probe

Alignment
system

Alignment
controller

alignment

LD/PD
alignment

S
8 = [ 83 |s
() (o} (T 2o |~
= o
=
[



juswiugije Jaqi [eando

WG
alignment

—
o

alignment

8=
ERT]
3

Manual

it

2
(=}
=
=3
@
=

Motorized
alignment unit

Fiber holders

Device holders

Adaptors

Contact
sensing meter

Accessories
for alignment

Stereomicroscope

Lens tube

Monitoring
unit

20
o)

Lighting

f

Probe

Alignment
system

Alignment
controller

alignment

LD/PD
alignment

© 2
=
g

| Optical Fiber Alignment

Fiber Holder with Lens: F268

SPEC
Model F268-d
Applicable diameter (¢od) ?;:f;ﬁiﬁ?
Adoptor F510C-d
Weight 0.08kg

Main materials * Surface processing

Aluminium—Alumite finishing  ¢pd part: No treatment

Accessory: Installation screw (hexagon socket head cap bolt 2 of M3-10)

M Model/ Option
F268-(d|
T

diameter d
4~14.5mm every 0.1mm

Type of holder

CAD
2D

@Holder for fixing the cylindrical elements such as optical fiber with a lens.

@This is a combination of adaptor F510C for a lens and bracket A54 for element adaptor.
@Please choose a compatible with element diameter (¢d) when you order.

C©F510C : P.3-016, A54 : P.4-038

MF268-d
2-M3 slotted hole for bolt
M3 fixation screw
I a N ——1
gI \—V 2
C e
i ‘\_
TS >
30 20
+0.3
) @d +0.2
N~ —
JI © ©
$ — e
0 ~ U
& —
] SR L%
\ \ | —
s 54 & L\WL
62

‘ Base Plate for Preset Holder: E300

MExample

CAD
2D

@The preset holder installed on the base plate.
@Install to each stage unit.

ME300-L © See WEB for R type external dimension

40
20 6.5  2-M3slotted hole for bolt

o
o ¥

Model E300-L E300-R S|& &
Applicable holders E310/E330/E340
Mounting Mechanical clamp = |:|
Weight 0.05kg :
Main materials * Surface processing Aluminium—Alumite finishing
Accessory: Installation screw (hexagon socket head cap bolt 2 of M3-10) | 125 | 1
V groove holder 25 @6
s )
o
Positioning pin y HERE

M Model/ Option
.
E300- g

L Select a clamp arm direction

Type of holder




‘ Preset Fiber Holder: E310

W Model/Option

Jinin
E310-51 R

—
Select a clamp arm direction

Selecta jacket diameter
1:250um, 2:900um
Holder model

@Preset fiber holder.
@|nstall to the base plate E300.

ME310-1L
Fiber jacket Fiberclad
V groove for holding V groove for holding

B—

=)

23

CAD
2D

BE310-1R
Fiber clad Fiber jacket
V groove for holdini V groove for holding

23
19

4 ik

END \& S| i_ﬁk o
Model E310-1L/R E310-2L/R
Clad diameter 125um
jacket diameter 250um \ 900um
Mounting Magnetic force
Weight 0.01kg
Main materials + Surface processing Aluminum-White alumite treatment

‘ Preset V Groove Holder: E330

No surface treatment of V groove part

M Model/Option

E330-(d -
L Select a clamp arm direction

Appli diameter d
1~5mm every 0.1mm

Holder model

CAD
2D

@Preset V groove holder for cylindrical elements.

@|nstall to the base plate E300.

@Please choose a compatible with element diameter (¢d) when you order.

ME330-d-L ME330-d-R

5.5 16 3.5 3.5 16 5.5
© 0
™ 5e]

w ~ ’ [To)
8 — > 2 - S
25 25
Knob for clamping Knob for clamping
F=z wm| v I =
I |2l [ M- |

SPEC

Model E330-d-L/R
Applicable diameter (¢d) ¢1~5mm (every 0.1mm)
Mounting Mechanical clamp
Weight 0.01kg

Main materials - Surface processing Aluminium—Alumite finishing

No surface treatment of V groove part

juswusije Jaquy jeando

alignment

LD/PD
alignment

=

3
=S
(73

Manual
gni

Motorized
alignment unit

Fiber holders
Device holders

Adaptors

sensing meter

Accessories
for alignment

Stereomicroscope

Lens tube

Monitoring

Lighting

Probe

Alignment
system

Alignment
controller

alignment

LD/PD
alignment

= QO s =) o
3 S g8z g

= g © g E]

=

3

= S.



juswugije Jaqi [eando

L
alignment
Alignm:
components

Manual
alignment unit

Motorized
alignment unit

Fiber holders
Adaptors
Contact
sensing meter
Accessories
for alignment

Monit
unit

CC
I

Lighting

Probe

ra
eq
Align
system
G

Alignment
controller
Wi

alignment

LD/PD
alignment

| Optical Fiber Alignment

Preset Fiber Array Holder: E340

@Install to the base plate E300.

@Please choose a fiber array size when you order.

Dimensional outline drawings

MMounting

MExample

BE340L-1-A ME340R-1-A
55 16 35 3.5 16 5.5
0 [t}
o) o™
0 0
o L ( ol g, PRI > O
25 25
Knob for clamping Knob for clamping
— 1 4 T = =T ol
J: o L J 3 8k
S e 1
: 0
'—' P « ud 0 '—I
w [To]
f
SPEC WFiber array size
Model E340L/R Please use a fiber array bellows size or less.
F.A. size (see the picture on the right) L
Mounting Mechanical clamp ‘ Tt
Weight 0.01kg L : min 3mm
Main materials - Surface processing Aluminium—Alumite finishing W:3~12mm
' Wt i 1~152~25 3~35mm
M Model/Option LY

1A
E3405-2-B
3

[

SelectaFA (W)
A:3~5mm B:5~8mm C:8~12mm
SelectaF.A (H)

1:1~15mm 2:2~25mm 3:3~3.5mm
Select a clamp arm direction

Holder model

$¢Please ask us for detail of the size.



CAD
2D

Dimensional outline drawings

Waveguide Holder: F270/F271

@The waveguide that hard to hold is held by vacuum.
As the hole for vacuuming can be covered by a volt and resin ring, absorption
dimension to be changed to suit the waveguide range.

@There are two types, 10mm and 20mm width.

@There are two types, one with bottom plate and the other without bottom plate.

@Custom sizes are available.

@Mechanical clamp also available.

@In your actual use, need a vacuum pump.

CVacuum pump set : EV10A : P.4-059

@As F271 will be fixed with key for a holder
(AS49-5), it can be slid in the key direction.

@Can be used it for alignment unit by
combining with an exclusive adapter (F270-
PB10/20) to change optical axis height.

CHolder adaptor P.4-038

MF270-10

3-M2 cap bolt (Vacuum hole)
¢1.6 (Vacuum hole)

-]
®3.5 (Hose plug)
15

h -
I
L] 8
+

. S B |

Slide lock screw (M4) 14 | 145
14 40

BF271-10
3-M2 cap bolt (Vacuum hole) 12 11 11 4-3.5THRU¢6 C'BORE 3.5DP

¢1.6 (Vacuum hole) (M3 bolt hole)

&

g s wfeotodes) o
o [ 3-M23|JP
3.5 (Hose plug) 15 111
5 32
14 40

t
8
S e W A ‘T
L L] o
Slide lock screw (M4 : = —

WF270-20

6-M2 cap bolt (Vacuum hole)

2-¢1.6 (Vacuum hole)

$3.5 (Hose plug),~

WF271-20

6-M2 cap bolt (Vacuum hole)

Slide lock screw (M4)

Mechanical clamp

3-M2 3DP

Qh 1l

o

30

|14 40

4-3.5THRU¢6 C'BORE 3.5DP

¢3.5 (Hose plug)

2-¢1.6 (Vacuum hole) 12 11 11 (M3 bolt hole)
5 Mechanical clamp
516 0
Sk « €808
D @ ,
% © || @\_3-m230p
15 111
5/ 32
14 40
— N
i
n 8

/ [ah rhi |
Slide lock screw (M4) T T ¥

e
WHow to mount a vacuum adsorption.

Waveguide

Waveguide holder

Remove a provided screw
with hex wrench

when vacuuming

hole is opened.

To the vacuum pump

Ring

Model Absorption area hold operation Bottom plate Weight Main materials + Surface processing

F270-10 10X40mm _ 0.02kg
F270-20 20X40mm Mggﬁgﬁlg?ggmp 0.04kg
F271-10 10Xx40mm (Side) F271.8 0.06kg
F271-20 20X40mm 0.08kg

Aluminum-
Black alumite
treatment

Accessory: 2m of silicon hose and installation screws (Hexagon socket head 4 of M3-6)
*Included screws for only F271-10 and F271-20

juswusije Jaquy jeando

alignment

LD/PD
alignment

= =

alignment unit

Motorized
alignment unit

Fiber holders
Device holders

Adaptors

sensing meter

Accessories
for alignment

Stersomicroscope

Lens tube

Monitoring

UV equipment

Probe

Alignment
system

Alignment
controller

alignment

LD/PD
alignment

— oo s [=<)
= & B g

= 3 &

>

oQ



juswugije Jaqi [eando

WG
alignment

LD/PD
alignment
Aligni
components
Manual
alignment unit
Motorized
alignment unit
hol

Fiber holders

Adaptors

Contact
sensing meter

Accesst
for alignment
ens tu

Monitoring
unit
cC
C
L

equipmy

ighti
G

Probe
Alignment
system
Alignment
controller
Wi
alignment

LD/PD
alignment

| Optical Fiber Alignment

Waveguide Holder: F272/F273

CAD
2D

@Hold of waveguide less than 10mm in length. Consider protruding fiber from both sides.

@There are two types, one with bottom plate and the other without bottom plate.
@The clamp is a vacuum method and machine clamp combination with the springs.
© Vacuum pump set : EV10A : P.4-059

Dimensional outline drawings

Can be used it for alignment unit by combining
with an exclusive adapter (F270-PB10) to change optical axis height.

CHolder adaptor P.4-038

WF272-2

Clamp knob

Device clamp part
"Vacuum hole (¢1)
o 5
;7 2
B e s e === Slr vt
,,,,,,,,,,,,,,,,, ) ]
1) o|8|  Vacuum section
o [ H— -
‘ 115 14 | ‘
Slide lock screw (M4) 40 27
10 67

WF273-2
4-3.5 THRU ¢6 C'BORE 3.5DP
(M3 bolt hole)
- 7
N
SR o
5 | @ @
32 ‘
3.5 (Hose pl
$3.5 (Hose plug) 10 W0 | |ras)
Clamp knob
gg Device clamp part
Vacuum hole (¢1)
o~ 5
& = 2
2 i Nl
777777777777 =1 &,
,,,,,,,,,,,,,,, i 9]
5 | Vacuum section

Slide lock screw (M4)

WF272-5

= i)
‘ 20.5 ‘
¢$3.5 (Hose plug) Clamp knob
645 / Device clamp part
62 Vacuum hole (¢2)
& 5
B [
iy
/ %
® /3| Vacuum section
N
«of

Slide lock screw (M4)

WF273-5

4-3.5 THRU ¢6 C'BORE 3.5DP
(M3 bolt hole)

N N
g/sie] ol =i
@ 3 G
3.5 (H | 32 ‘ ‘
.5 (Hose plu
335 finse phg 0] a0 | | 205
Clamp knob
64.5 /
62 Device clamp part
Vacuum hole (¢2)
o
- 5
e
77777777777 R — iy
,,,,,,,,,,,,,,, 5
&

Slide lock screw (M4)

Model Device width hold operation Bottom plate Weight Main materials * Surface processing

F272-2 2~5mm 0.04kg )
F272-5 5~10mm Vacuuming + 0.04kg Black aumite
F273-2 2~5mm Mechanical clamp Fo71-B 0.08kg treatment
F273-5 5~10mm 0.08kg

Accessory: 2m of silicon hose and installation screws (Hexagon socket head 4 of M3-6)
*¢Included screws for only F273-2 and F273-5



Preset Waveguide Holder: E400

CAD
2D

© Vacuum pump set : EV10A : P.4-059

Dimensional outline drawings

@Waveguide holder preset type.
@Fix waveguide by vacuum.

@As the hole for vacuuming can be covered by a volt and resin ring,

absorption dimension to be changed to suit the waveguide range.
@Install to the preset base plate E410-B.

MExample

ME400-6

3-M2 cap bolt
(Vacuum hole) 12 \11 11 M

echanical clam
© 35] 3.5 (Hose plug)
Jd 11\
<
— 0
N ool u::'\ 4& - 2
N
¢1.5 !
(Vacuum hole) / SHIGIRRRRL 3-M2 30P
42
— o~
t :
B
2
4 2 (8] 2
WE400-20
2915 12 1111 g-M2ca
- p bolt
(Vacuum hole) 35] Vacaum hoe)
0 T Mechanical clamp
@
° oleo &
o 1.5 8|
o
TR |
‘(1’:’-5 i) 5 [|511] 11
08¢ plug 42 3-M2 3DP
— o~
¥
o
~
=
14 4|

ME400-8
¢1.5 12_11_11_ 3-M2 cap bolt
(Vacuum hole) 3.5 | (Vacuum hole)
2 Mechanical clamp
o il
J c.':".lg E[g
o &
¢3.5(Hose plug) /1.5 ||5/11 11
42 3-M2 3DP
— o~
= :
R
=
14 2 |
HME400-30
3-¢1.5 12_11. 11 9-M2 cap bolt
(Vacuum hole) a5 (Vacuum hole)
9 %T Mechanical clamp
i
vl o ele, R
S C fre o 282
=, F @ 7]
SEL .
1.5]5/11 |11
¢3.5(Hose plug) 42 6-M2 3DP
— o~
=
R
=
14 2 |

ME400-10
1.5 12 1111 3-M2 cap bolt
(Vacuum hole) 35 | ~(vacuum hole)
2 T Mechanical clamp
0
S ﬁ ; BE
oK
3.5 (Hose plut
935( plug) 1.5]5[11] 11 3-M2 3DP
42 —
:L o
¥
o
~
=
14 2|
E400-40
4-91.5 12_11_ 11 12-M2 cap bolt
(Vacuum hole) 35 | (Vacuum hole)
© Mechanical clamp
@ | —
=) elel !
< & &
N2 ﬂﬂ* o o S
=] R é
NG & |
1.5 ||5[11 |11 6-M2 3DP
3.5 (Hose plug) 42
ﬂ o~
¥
IS
=
14 2|

SPEC

Model Absorption area hold operation Weight Main materials + Surface processing
E400-6 6X38mm 0.09kg

E400-8 8X38mm v . 0.10kg

E400-10 10X38mm acuuming + 0.11kg Aluminum-
E400-20 20X38mm Mecng:gzl)damp 0.18kg Black alumite treatment
E400-30 30X38mm 0.25kg

E400-40 40X38mm 0.32kg

Accessory: 2m of silicon hose

juswusije Jaquy jeando

alignment

LD/PD
alignment

= =
é H -

alignment unit

Motorized
alignment unit

Fiber holders
Device holders

Adaptors

sensing meter

Accessories
for alignment

Stereomicroscope

Lens tube

Monitoring

UV equipment

Probe

Alignment
system

Alignment
controller

alignment

LD/PD
alignment

— 20 [Is [=J
5 & SR B g

= g 2

=}

oQ



juswugije Jaqi [eando

WG
alignment
LD/PD
alignment
Aligni

comp!

Manual
alignment unit

Motorized
alignment unit
hol

Fiber holders

Adaptors

Contact
sensing meter

Accesst
for alignment

Monitoring
unit

CCl

C

Lighti

Probe
Alignment
system
Alignment
controller

WG

alignment

LD/PD
alignment

| Optical Fiber Alignment

Preset Waveguide Holder (Mechanical clamp type): E400 m

@ Add the clamp from the upper side to E400.
Improved holding power by mechanical clamp.

@No vacuum function.
@|nstall to the preset base plate E410-B.

Dimensional outline drawings

ME400-8N ME400-10N ME400-20N
35 38.5 3.5 38.5 3.5 38.5
o 0 0
o o 5e]
5 3 2 ® © I
| °® 2 | {Eeece g I &', K
o o b
T ] T ] T )
R R R
[ S [ S I S
15 42 15 42 15 42
57 57 57

M Details of the mechanical clamp

Available replacement

SPEC 5mm to the right
Model Device attached surface Hold operation Weight Main materials * Surface processing
E400-8N 8X38mm 0.10kg Aluminum-
E400-10N 10X38mm Mechanical clamp 0.12kg Black alumite
E400-20N 20X38mm 0.18kg freatment )

Adjustable 2mm of mechanical clamp

height adjustment screw

CAD
2D

Preset Waveguide Holder Unit: E410

@This holder is combined with E410-B and E400.
@When a variety of element size, should be changed only E400 to match the size
what you want.

Dimensional outline drawings

E400

@nstall to the stage unit £1000. HE410-6
7\
MExample for using
3
Waveguide i
WG holder
= =
“ o o
[ Preset baseE410-B |
’ %Not to be attachable L
to the tilt stage 3
E410-6) | Z ) Device unit E1000
(No key) Base
pai| /
| ‘
40 9 | 48.5
SPEC
Model Absorption area hold operation Weight Main materials * Surface processing
E410-6 6X38mm 0.14kg
E410-8 8X38mm ) 0.15kg
E410-10 10X38mm Vacuuming + 0.16kg Aluminium—
E410-20 20X38mm Mec“?'&'ﬁﬂf'amp 0.23kg Alumite finishing
E410-30 30X38mm 0.30kg
E410-40 40X38mm 0.37kg
Accessory: 2m of silicon hose and installation screws (Hexagon socket head 4 of M3-10)
Model Device attached surface Hold operation Weight Main materials + Surface processing
E410-8N 8X38mm 0.15kg Aumini
: uminium—
E410-10N 10X38mm Mechanical clamp 0.17kg Alumite finishing
E410-20N 20X38mm 0.23kg

Accessory: Installation screws (Hexagon socket head 4 of M3-10)



Temperature Control Waveguide Holder: F274

CAD
2D

@The waveguide holder with temperature controller.

@ As the hole for vacuuming can be covered by a volt and resin ring,
absorption dimension to be changed to suit the waveguide range.

@A mechanical clamp also available.

@The holder will be changed to the thermal displacement when temperature
control width is getting wider. Please ask for more details.

@Built in the corrected 10kQ thermistor sensor using the Peltier device.

© Vacuum pump set : EV10A : P.4-059

Dimensional outline drawings

WF274-18
3-3.5 THRU 2 16 16 8 Mechanical clamp
(M3 bolt hole) |
g Dl e
s © %ﬁ o €
¢ ¢ OEPT s ISR
©|®
[=2]
3.5 (Hose plug) 65 ‘ ‘ 1 @

SPEC
Model F274-18
Absorption area 18x37mm
Holding Vacuuming(Tubing size ID$3.0mm 0D¢5.0mm) + Mechanical clamp(side)
Peltier devices 13W, 4V, 5A
Thermistor sensor VTS510 (Calibrated 10kQ) thermistor sensor)
Weight 0.1kg

Main materials + Surface processing

Aluminum-Black alumite treatment

Accessory: 2m of silicon hose and installation screws (Hexagon socket head 3 of M3-18)

Objective Lens Holder: F280/F281

I

7.5 | 67

Connector

9-pin D-sub

1 :’7 Peltier devices (+)

2

3 :'7 Peltier devices (—)

4

5

6

7 Thermistor sensor (+)
8 Thermistor sensor (—)
9

CAD RoHS
20 10

@Should be used JIS standard screw M20.32P=0.706 for fixing objective lens.
@There are two types, one with bottom plate and the other without bottom plate.

height.

. Holder adaptor
MLens mounting example c P

Can be used it for alignment
unit by combining with an
exclusive adapter(F270-
PB10) to change optical axis

P.4-038
SPEC
Model F280 F281
Bottom plate - F271-B
Weight 0.02kg 0.06kg
Main materials + Surface processing Aluminum-Black alumite treatment

Accessory: Installation screws (Hexagon socket head 4 of M3-6)

3 Included screws for only F281

Dimensional outline drawings

WF280

M20.32 P=0.706

M4 Slide lock screw

WF281 0
30 4-3.5THRUG6 C'BORE 3.50P
\ | |/ (M3 bolt hole)
g o [
20 T 0
M20.32 P=0.706 [
b KJ @ =<1 M4 Siide lock screw
g [3V]
| r:# 1 b— |
! i | o |x,,:,,‘,:

1.5

Juswiusije Jaqy [eando

alignment
LD/PD

= =
T} o}
3

Motorized
alignment unit

Fiber holders

Device holders

Adaptors

=) o=]18=
= SSI335
I 25 5
= =

=

sensing meter

Accessories
for alignment

Stereomicroscope

Lens tube

Monitoring

=
=
=4

CCD

UV equipment

Probe

Alignment
system

Alignment
controller

alignment

LD/PD
alignm

o = C 8

[} 0 3

@ =f =
&R



juswusije Jaquy jeando

L
alignment
Alignm
components

Manual
alignment unit

Motorized
alignment unit

Fiber holders

Adaptors
Contact
sensing meter
Accessories
for alignment
Moni

unit

CCD
camera
Lighting

Probe

Align

system

Alignment
controller

WG
alignment

LD/PD
037

| Optical Fiber Alignment

Selfoc® Lens Holder: F290

@This holder is combined with Selfoc lens holder F14 and bracket A54-0.

CF14:P.3-015,

Model Applicable lens diameter (A) Width (B) hold operation Weight Main materials * Surface processing

A54 :P.4-038

HF290
"=
®A
= %\
&l ; e /@‘;
By ol
40
67
70 20
90

F290-1 $0.5~ 1.5mm omm
F290-2 1.6~ 2.5mm
F290-3 1.6~ 2.5mm
F290-4 $2.5~ 5.0mm amm
F290-5 $4.0~ 8.0mm
F290-6 $7.0~12.0mm

Mechanical clamp

0.07kg

Aluminium—
Alumite finishing

Accessory: Installation screws (Hexagon socket head 2 of M3-10)

LD Holder (TO-Package type): F125

2-M6 slotted hole for bolt

M4 fixation screw
¢10

4
21
0

|l =

®20
¢10
=
=
o

18 48
66

@Built-in Peltier device holder.

SPEC
Model F125-3A F125-3B F125-4A F125-4B
LD Size $5.6 $9.0 $5.6 $9.0
Pin P.C.D. 2.0mm 2.54mm 2.0mm 2.54mm
Number of pin 3 4
Weight 0.2kg

i mtels » Surfge rocesig|

Aluminum-Black alumite treatment Cooper-Gold plating processing

© Detailed LD holder P.3-035



Braket for Element Adaptor: A54

CAD
2D

@Available for variety of adaptors.
@Tilt stage-mountable.

@A54-0 type, no jacket hold part, and A54-1, has it.

Dimensional outline drawings

Available in various adaptors (except F19) as below the picture.
(Use M2.6-P.C.D.32 screw for mounting adaptor)

CP.3-015~018

BMA54-0

WA54-1

2-M3 slotted hole for bolt

32

2-M2.6 6DP
2-M3 6DP

21

SPEC

Model A54-0 A54-1
Part of holding No Yes
Weight 0.04kg 0.06kg
Main materials + Surface processing Aluminum-White alumite treatment

Holder Adaptor

Accessory: Installation screws (Hexagon socket head 2 of M3-10)

2 bolt holes for 2-M3

[ T
L A
- ,_I
S
& i
T i Qn;‘/
o 30 14 2-M2.6 6DP QQ).
= 2-M3 6DP it
1 A N
&
~
wn
! ! o[~
2 8] a8
56

CAD
2D

@This is for the device holder. It is designed to be 80mm optical axis height by the mounting device holder (F270~F274, F280, F281) and adaptor (F270-PB10/20/26).
@In order to avoid the interference of the alignment unit.
@Also has line-up the base plate (F271-B, E410-B).

F270-PB10

F270-

PB20 F270-PB26,

Applicable holders Weight
Model F270-10|F270-20|F271-10|F271-20|F274-18| F272-2 | F272-5 | F273-2 | F273-5| F280 | F281
F270-PB10 @) O @) O O ©)] O O | 0.06kg
F270-PB20 O O 0.1 kg
F270-PB26 O 0.1 kg
F271-B @) O O O O 0.04kg

Main materials + Surface processing : Aluminium—Alumite finishing
Accessory: Installation screws [Hexagon socket head 4 of M3-6 (F271-B)

4 of M3-10(E410-B)

© See WEB for external dimension
MExample for using

Model

Applicable holders| ~ Weight

E410-B

E400 series 0.06kg

juswusije Jaquy jeando

alignment

LD/PD
alignment

= =
é H -

alignment unit

Motorized
alignment unit

Fiber holders
Device holders

Adaptors

sensing meter

Accessories
for alignment

Stereomicroscope

Lens tube

Monitoring

UV equipment

Probe

Alignment
system

Alignment
controller

alignment

LD/PD
alignment

S
3 = = TE g
0 @ "': 29 g
=2
[}



juswugije Jaqi [eando

2=
[=¥o)
=
@

alignment

Manual
alignment unit

Qx> —
S =
= [=]
23
o
w

otorized
alignment unit

Fiber holders
Device holders

Adaptors

Contact
sensing meter

=
=

for alignment

Stereomicroscape

Lens tube

unit

CCD
camel

equipment

C = z
g =3 2
— =4 oW
= 9‘

oQ

system

Alignment
controller

alignment

LD/PD
alignment

| Optical Fiber Alignment

2-axis Tilt Table: EB55

@This is the 2-axis tilt control table for matching a fiber holder parallel with the optical axis.
Good for proximity to the probe and monitoring.

Dimensional outline drawings

HEB55-1L 4-MACBORE 5 50 5
| { 8_888/[4
w) L1
ol l =
S g o
o ICNCh
<2
o © 10-M3 4.5DP
35.4 60
Holder table height Gentrof mafon
I
Model EB55-1L EB55-1R o
Travel distance +25° B A
Travel distance per Vertical approx.0.57°/per rotation |60 10
one rotation(3%) Horizontal approx.0.58°/per rotation
Weight 0.28kg MEB55-1R 5 50 5 4-M4 C'BORE
Main materials * Surface processing Aluminum-Black alumite treatment 4 \{8 8‘8 ‘8 w \
w0
Accessory: Installation screws (Hexagon socket head 4 of M4-6) S[< I
*¢Value of near the center of stroke 66 @
S ® ® 33
. . 00,52 |9
B Model/Option MExample for using o
10-M3 4.5DP, ol
EB55-1L% °
@ 60 35.4
Center of rofaon Holder table height

—[ L : Left type R : Right type

160 |

Tilt Stage: B50/B51/B53

@This is the 2-axis tilt stage for mouting a fiber holder.
Selectable from 3type due to type of rotation center.

@Mount to the high resolution stage B10 series.

© Detailed High resolution stage B10 P.2-089
C Alignment unit P.4-017
© See WEB for external dimension

@There are 3 types of different type of rotation center.
B50: Inner tilt stage (Center of the rotation is the inside a stage)
B51: Outer tilt stage (Center of the rotation is the outside a stage)
B53: Side tilt stage (Center of the rotation is the side a stage)

SHL

e
B53 (Side tilt)

B51 (Outer tilt)

B50 (Inner tilt)
Optical fiber

Y

@It is very important to make a relation of tilt, rotation center and device position (e.c.
fiber edge) when you wish a fine motion to begin.
As figure A shows, there is almost no difference in the top of optical fiber when it is
aligned with the tilt rotation center.
As figure B and C shows, there may be a discrepancy in location at the top of optical
fiber caused by the gap between the top of optical fiber and tilt rotation center.

@This is the control mechanism for positioning horizontal optical axis and optical fiber.
Do not use in vertical and upside down.

Model B50-60LN | B50-60RN | B51-60LN | B51-60RN | B53-60LN | B53-60RN

Stage surface size 40X60mm

Center of rotation

Fig.A Fig.B Fig.C

EVModel/Option

0]
5@-60N

Travel distance

H30° (3047 Brx3013)

H05° (2645 frx2514)

+05 (Y2645 6r+2869)

Micrometer minimum
readable scale

6y33.8~/scale
6233.4~/scale

0y29.37/scale
6227.87/scale

6y29.3~/scale
6z31.87/scale

Weight

0.32kg

0.39%g

0.40kg

Main mterals * Surface processing

Aluminum-Black alumite treatment

Accessory: Installation screws (Hexagon socket head 4 of M4-6)

—L L : Lefttype R : Right type
0 : Inner tilt. 1 : Outer tilt, 3 : Side tilt



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

Ntact Sensing Meter: CSM

CSM for GAmor facing (paralleling) of fiber array and waveguide.
Mount for the alighgent unit E/ES series.

CSM makes it possibl&for GAP adjustment/faing.

Juswiusije Jaqy [eando

MExample

alignment
LD/PD

= =
T} o}
3

alignment unit

Motorized
alignment unit

Olt enables positioning while checking a display.
OAs the contact position is detected, it anables positioni#§ while checking a display.
OProvides a multi-device holder which attaches gredf importace to work efficiency.

Fiber holders

Configuration A measuring device main body and one set of L and R holder
Applicable device size / 3~12 (W) x3~20 (L) x1~3.5mm (t) \ Device holders
Measuring function /| Contact realization (GAP adjustment) Facing \
Reproducible / Contacting position w/in =2um. Facing w/in +0.05° N\
Electric power / AC100~240V+10%3%1  50/60Hz 18W AN Adaptors
. main body : 160 (W) x130 (D) x95 (H) mm AN
Holder : 80 (W) x55 (D) x20 (H) mm AN Contact
Weight / main body : 1.2kg N\ sensing meter
Holder part: 0.12kg each N\ Ty
%1 : Power plug is different between Japan(100V) and Chin{20V} for alignment
Stereomicroscope

4 A
{Example] . Manugl stages alignment unit'(EZOOO\ E2200 sgries) Lens tube
Motorized stage alignment unit (ES3800, ES series)

Attachable to Manual alignment system (E8203B)

CP.4-017~ ﬁ
\

Monitoring

= =18 x=
= =R ELS
=
S 183
=
w

Q

Lighting

(E8203B) UV equipment

(Optic PM) (Monitor for observation)

]

SO
o

\— Probe
Alignment
T system
Alignment
_ controller
Configuration
y (@ | Main body WG
los| (2 | Touch-sensing holder L alignment
q : 3 | Touch-sensing holder R
@ | FA holder L LD/PD
HPH B ® | FAholder R alignment
(6 | Power adaptor
| — T T | —
\§ P . ) .
040



